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FUNCTIONS R 1
COMPOSITE FUNCTIONS Ref: (}294.5
Al A2 A3
1

f(x)=2x-5, g(x)=x>-10 f(x)=x+2, g(x)——3 f(x)=2x+5, g(x)=x>-25
Find fg(4) Find fg(x) Solve gf(x) =0
B1 B2 B3

()= x4, g0)=—2 fx)=x+4 , gx)=——o f(x)—— g(x) = "—H

T BRI 8T
work out fg(-3) Find gf(x) Solve gf(a) =3
C1 C2 C3
1 2
fx)=vx—1, gx)=—r0 s 202 +1, @b —— fx)=x*, g(x)=2+x
x+2 x—1
Calculate gf(10) Express the composite function gf in the form Solve the equation fg(x) = g(x)
gfixi—> ...
D1 D2 D3
x—6

fxi>2x-3, g 1+vx f(0)="77 . g =vx—4 f(x)=x", g(x)=x-3

Calculate fg(6) Express the function gf in the form gf(x) = ... Solve the equation gf(x) = g '(x)

Give your answer as simply as possible.
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FUNCTIONS
COMPOSITE FUNCTIONS Ref: G294. 5 R 1
Al A2 A3
) folx) = 4 F(x)=9(2x+5)
g =M*-10 #(6)=2(6)-5 9(x)= 3 _(@x+5] 25
=6 % -7 :(i)+2=2X_5 =Ux*+20
X=35 X=5 sosolve Ux?+20=0 X=0, Xx=-5
B1 B2 B3
QF(X)ZQ(X"‘“) gf(a)zﬂ_,_g_
9(=3)= (_25()_?1 f(S):%(S)M _(x+4)  _ x+H z
=3 . ﬂ =55 2x+H)-5 2x+3 SO solve %+1=3 a=\4
C1 C2 _al2x? +1 C3
1 Foo=g(2r+1) olx) = #(2+ 1
£(10) = {(10)-1 9(3) = Be2 _ 202X +1) WX +2 _@axp
=3 ex*+1)-1 2x* =
=02
\\J ’ :2X2+1 sosolve (2+x)°=2+x x=-1
X2
D1 D2 D3
96)=1+v6 —» H1+6)=2(1+6)-3 gf(x)=9(XT_s) of(x) = o(x") 9 ()= x+3
=x*-3
=-1+2V6 X—6 x— 10 :
= (3.90) = TJ—”= 2 sosolve xX*—-3=x+3 X=-2, x=3
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